Fractional Indices

é\

= REVISE THIS CHECK YOUR  ~yesrrm
TOPIC ANSWERS

1 (a) Write down the value of 92 @

1
(b) Write down the value of 642

1
(c) Write down the value of 273

1
(d) Write down the value of 10000*

1
(e) Write down the value of 83

(f) Write down the value of 16

NI

1

() Write down the value of 325
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(Total for Question 1 is 7 marks)
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2 (a) Write down the value of 42 @

2
(b) Write down the value of 64°

3
(c) Write down the value of 164

5
(d) Write down the value of 10003

3
(e) Write down the value of 252

4
(f) Write down the value of 1°

3
(9) Write down the value of 32°

3
(5) Write down the value of 814

(Total for Question 2 is 8 marks)
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3 (a) Find the value of [%J @

W=

; 8
F h | L
(b) Find the value of [1 25]

wInN

; 38
F he val f oS
(c) Find the value o [27)

(S0

; 1
F he val —
(d) Find the value of (32)

N W

; 9
(e) Find the value of (ﬁ))

(Total for Question 3 is 10 marks)
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4 (a) 36"=6 @
Work out the value of n.

n=
(b) 100"= 1000
Work out the value of n.
n=
(c)8"=16
Work out the value of n.
n=
(d) 25"=125
Work out the value of n.
n=
(e) 125"=25
Work out the value of n.
n =
(f)32n=4
Work out the value of n.
n=
(9) 81"=9
Work out the value of n.
n=
(h) 400"= 8000
Work out the value of n.
n=

(Total for Question 4 is 8 marks)
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5 (a) Simplify (49x8y1°)% @

(b) Simplify (64X9y30)%

(c) Simplify (125x3y12)§

(d) Simplify (a"’bgc“)g

1

(€) Simplify (16m2°n%)*

(Total for Question 5 is 10 marks)
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6  (a) Simplify (%;1“8)

(=)

Wl

(b) Simplify [ 2872321)

2
a6b3 3
125m9n30)

(c) Simplify [

3

(16K Y
(d) Simplify ( 81X16y32)

(Total for Question 6 is 14 marks)
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